170000 cm? = |m?

@1 @17 @1 @017 ® 1700

10000 cm? = 1 m?
170000 cm? = 17 m?
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10000m? = 100a = 1ha = 0.01km?
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- 5000g = Dkg
-4t =Qkg

- 900ke = Bt
14t =D@g
-0.12t = @kg

@ 5 @ 4000 ® 0.9
@ 1400000 ®n2

1kg =1000g, 1t = 1000kg
® 0.12t = 120kg
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1 5064 1

59.64 = 3 64% - 290 .2
v 5964 ’ i965;<6i 20 s
T ® 3% 10

B

5964 1

1 S8 9064
3 100 © 3 100 °

webA] AL A3} qel st e s S0 s S gy,

59.64 + 3 = 59.64 x
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6. o= SolA ol Hirel EolAA

D 38.5=+25 @)12.8+7

@ 23=+8 ® 9.45+9

B

D 385+25=154
©®12.8+7=18285---
® 26+ 3 =28.666---
@ 23 +8=2875
®9.45+9=1.05
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D 0.418 @ 0.374 @ 0.399 @0.542 ® 0.289

e ~

@D 0.428 — 0.4

® 0.374 - 0.4

® 0.399 — 0.4

@ 0.545 — 0.5

® 0.289 — 0.3

webA A B4 A oA TEEPS o 7PE 4= 0.542
du ot




® 13ha=130a
® 5.6km? = 5600 ha

® 8.5km? = 850000 m?

@)1.8km? = 18000 a

@ 92000a = 92ha

B

@ 13ha = 1300a

@ 5.6km? = 560 ha

@ 92000a = 920 ha

® 8.5km? = 8500000 m?
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D 0.02km? @ 0.2ha 3)2000a

@ 20000 m? ® 2ha

B

T 22 &9= 1AM v
@ 0.02km? = 2ha
® 2000a = 20 ha
@ 20000 m? = 200a = 2ha

o Bt




@ 3t =3000kg @)9000t = 9kg
® 2t = 2000000 g @ 0.6kg=600g

® 0.65t = 650kg

@ 9000t = 9000000 kg
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D 404+5 @ 5.1+6
@ 67.1+22 @47.5 +5
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O 404+5 @ 51+6 ® 46.4 =32
@ 67.1+22 ®)425+5
A0 AlS S o] Ho x| %] ¢f O Lo 2= 4=9]
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Yt}
8.5
5)42.5
40
© 25
25

0

A



13.

T 4% FolA 27 92l Apolel 9 St of= AAUAA?

@® 2.704 @ 2.713 @2.718 @ 2.88 ® 2.876

B

5 19
2-=—=19+-7=2714-.-

7 7

7 23
2-=—=23+8=2875

8 8

2.714--- &} 2.875 A0 9] A= 2.718 YU T},
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== —028
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S= =06
& 5 10
1 25
® 0.3
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15.

.bha
o]

in

ZA-2oldlE 3.2ha 9] =oll A & 5.6t & AR, WFlE 4
o] ol A & 7920 kg 2 AATSIALSUTH 1a & AL o
2 kg © B5U7P?

®© 7L, 1kg @ 72,0.1kg ® w4t 0.01kg
@ W, 1kg @UJ%, 0.1kg

~&B \

A2old 1a & AYAHEF : 3.2ha = 320a,
5.6t = 5600kg = 5600 = 320 = 17.5( kg)
Ayl 1a S A4 ¢ 4.5ha = 4504,
7920 + 450 = 17.6(kg)

wretA B 7F 1a & AJateFol

17.6 - 17.5 = 0.1(kg) B @&Uth




